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[z, p.] = iR, [y, p,] = iR, [2,p.] = ih, (1)
[x,x] = [ZE,y] = [:L‘,Z] - [x,py] = [x,pz] =0, (2)
Wyl = [y, 2] = [y, p2) = [y, 0] = [2,p2] = [2,0y] = 0. (3)
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[AB,CD] = ABCD — CDAB, (4)
[A,C=D] = [A,C]—[A,D], (5)

[A—B,C—-D] = [A,C—D]-[B,C—D]
— [A,C]—[A,D]—[B,C] +[B,Dl. (6)
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Uy = yp, —zpy, 0 by = zp, —ap,, 0 L, = xp, — yps. (7)
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[la; b)) = [ypz — 2Dy, 2Pz — TP2]

= [yps, 2ps] — [Yp=: Tp:] — [2py, 20:] + [2py, 2P,

= YP22Px — ZPaYPe — (YPP. — TPYP.) — (2Dy2Pe — 2Pu2Dy)
+(2pyp: — TP22PY)

= P22 YPa — 2Ds - Dol — TYP: + TYP: — 2Py + 27 Paby
+2p. - TPy — P22 - TPy

= (P22 — 2p.)ype + (2p2 — p22)xpy

= —lz,p:Jype + [z, p:] Dy

= ih(wpy — ypx)

[l 0,] = ihL,. (8)
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